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Name of the course . Value Addition Course
(VAC)

Semester |

Duration : 1 Hours Maximum Marks : 30

Instructions for Candidates

1. Write your Roll No. on the top immediately 5n receipt

of this question paper.

7. Question No. 1 is compulsory,

3. Answer any two questions from Question nos. 2 to 4.
4. All questions carry equal markg
5. Use of calculators is not allOWed.

i Mentioning Veol Mat?ematics Sutra and Subsustra
used to solve the question,
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1. Attempt any fg, of (he folloWing

Mﬁaﬁ%%ﬁ%mmaﬁm

(a) What is the Sammucca e in the equation 9x + 9
=Tx + 7?
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) Solve {or Xi == el
(b) Solve for X = s

+ 20 and
(¢) Find x and y such (hat 5¢ = 4y

10 & + 3y = 40

(d) Find the length of the |w,-lwnclicu'lar from (2, 3) to

y = 4x

(e) Solve for x : (x = 1) (x - 2) = x-3)@x-4)

1 3 -2
(a) Find the determinant of ["‘3 0 1}
2 1 0

1 3 -2
ot g aRe : |73 0 14
| 2 1 0

(b) Explain the concept t0 Convert an jsogceles triangle
equal in area to @ given SqQuare,
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(a) Solve the system of equationg ¥ _ 4. and

3x + 5y = -1
ey T BT wy gy = 40
——3x+5y=——7 PTO
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(b) The sum.Of thfez Numbers is 2, If twice the second
pumber is adde t.o the sum of first and third, the
< 18 2 Bz’ adding second and third number to
e times the first number, we get 6. Find the
ree mumbers (Using inverse of matrix by high-

sp-eed matrix algebra)
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4. (2) Giventhatin 4 ; ght-angled triangle, the hypotenuse
is 17 and the sum of other twWo sides is 23. What
is the length of the base and altitude?
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(b) Formulate ¢, equation of the line passing through
two points thrGUgh (1 2) and ( 3, 4).
AT X B gy e T TR TAEY

( 17 2) and ( 3’ 4) (
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